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QUESTION 1
Which statement is true about the longer route-filter match type?
A. All routes within the specified prefix that are longer than or equal to the given prefix are considered a match.

B. All routes within the specified prefix that are longer or equal to the given prefix up to a defined acceptable prefix
length are considered a match.

C. All routes within the specified prefix that are longer than the given prefix up to a defined acceptable prefix length are
considered a match.

D. All routes within the specified prefix that are longer than the given prefix are considered a match.

Correct Answer: D

QUESTION 2

A user opens a webpage that requires the transmission of packets from the Web server to the client\\'s browser. The
packets transmitted from the Web server to the client exceed the smallest MTU value on the communications path.

Which two protocol functions allow this type of communication? (Choose two.)
A. packet segmentation

B. serialized checking

C. packet sequencing

D. parallel checking

Correct Answer: AC

QUESTION 3

Which parameter would you use to prohibit the redistribution of a static route used for management traffic?
A. discard

B. passive

C. reject D. no-readvertise

Correct Answer: D

QUESTION 4

How does the PFE handle unicast transit traffic destined for an existing forwarding table entry?

Latest INO-103 Dumps | JNO-103 VCE Dumps | JNO-103 Practice Test 2/3


https://www.pass4itsure.com/jn0-103.html
https://www.pass4itsure.com/jn0-103.html
https://www.pass4itsure.com/jn0-103.html

. VCE & PDF https://www.pass4itsure.com/jn0-103.html
g 2024 Latest passditsure JNO-103 PDF and VCE dumps Download

— PassditSure.com

A. It sends the traffic through one egress port toward its destination.

B. It sends the traffic through multiple egress ports to all available receivers.
C. It sends the traffic through an internal link to the RE.

D. It sends the traffic to the local system for further processing.

Correct Answer: A

QUESTION 5

Which two commands will provide the current configuration of the MX1-PE1 BGP group on your router? (Choose two.)
A. user@router# show groups | display set | match MX1-PE1

B. user@router> show configuration | display set | match MX1-PE1

C. user@router> show configuration | match set | match MX1-PE1

D. user@router# show | display set | match MX1-PE1

Correct Answer: BD
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